
� No.124-10-1 �

No.124-10-1 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 9720− 3067 = (2) 7882− 6286 =

(3) 11300− 3855 = (4) 5688− 125 =

(5) 6733− 1009 = (6) 11147− 3915 =

(7) 10630− 2845 = (8) 10802− 5041 =

(9) 3907− 2927 = (10) 7680− 4866 =

� 13th-note �



� No.124-10-1 �

No.124-10-1 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 9720− 3067 = 6653 (2) 7882− 6286 = 1596

(3) 11300− 3855 = 7445 (4) 5688− 125 = 5563

(5) 6733− 1009 = 5724 (6) 11147− 3915 = 7232

(7) 10630− 2845 = 7785 (8) 10802− 5041 = 5761

(9) 3907− 2927 = 980 (10) 7680− 4866 = 2814

� 13th-note �



� No.124-10-2 �

No.124-10-2 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 14633− 7903 = (2) 2960− 2280 =

(3) 9318− 1997 = (4) 5278− 604 =

(5) 4258− 731 = (6) 12068− 8568 =

(7) 6939− 3833 = (8) 4431− 4243 =

(9) 6375− 4328 = (10) 7984− 36 =

� 13th-note �



� No.124-10-2 �

No.124-10-2 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 14633− 7903 = 6730 (2) 2960− 2280 = 680

(3) 9318− 1997 = 7321 (4) 5278− 604 = 4674

(5) 4258− 731 = 3527 (6) 12068− 8568 = 3500

(7) 6939− 3833 = 3106 (8) 4431− 4243 = 188

(9) 6375− 4328 = 2047 (10) 7984− 36 = 7948

� 13th-note �



� No.124-10-3 �

No.124-10-3 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 13733− 5945 = (2) 7265− 1287 =

(3) 13772− 8957 = (4) 14674− 5457 =

(5) 8684− 5962 = (6) 8798− 7290 =

(7) 12241− 8036 = (8) 5830− 4887 =

(9) 7705− 4715 = (10) 15511− 7339 =

� 13th-note �



� No.124-10-3 �

No.124-10-3 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 13733− 5945 = 7788 (2) 7265− 1287 = 5978

(3) 13772− 8957 = 4815 (4) 14674− 5457 = 9217

(5) 8684− 5962 = 2722 (6) 8798− 7290 = 1508

(7) 12241− 8036 = 4205 (8) 5830− 4887 = 943

(9) 7705− 4715 = 2990 (10) 15511− 7339 = 8172

� 13th-note �



� No.124-10-4 �

No.124-10-4 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 6305− 4371 = (2) 4628− 4564 =

(3) 7453− 362 = (4) 13226− 9890 =

(5) 8289− 1320 = (6) 5379− 2114 =

(7) 15283− 6686 = (8) 9357− 4262 =

(9) 13773− 6307 = (10) 10054− 9253 =

� 13th-note �



� No.124-10-4 �

No.124-10-4 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 6305− 4371 = 1934 (2) 4628− 4564 = 64

(3) 7453− 362 = 7091 (4) 13226− 9890 = 3336

(5) 8289− 1320 = 6969 (6) 5379− 2114 = 3265

(7) 15283− 6686 = 8597 (8) 9357− 4262 = 5095

(9) 13773− 6307 = 7466 (10) 10054− 9253 = 801

� 13th-note �



� No.124-10-5 �

No.124-10-5 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 9164− 2006 = (2) 9724− 2023 =

(3) 12680− 3389 = (4) 7219− 4659 =

(5) 6878− 4253 = (6) 13927− 4367 =

(7) 6923− 5743 = (8) 12686− 4978 =

(9) 13261− 8943 = (10) 10332− 5288 =

� 13th-note �



� No.124-10-5 �

No.124-10-5 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 9164− 2006 = 7158 (2) 9724− 2023 = 7701

(3) 12680− 3389 = 9291 (4) 7219− 4659 = 2560

(5) 6878− 4253 = 2625 (6) 13927− 4367 = 9560

(7) 6923− 5743 = 1180 (8) 12686− 4978 = 7708

(9) 13261− 8943 = 4318 (10) 10332− 5288 = 5044

� 13th-note �



� No.124-10-6 �

No.124-10-6 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 14165− 6013 = (2) 8631− 210 =

(3) 15509− 9726 = (4) 9285− 4879 =

(5) 3053− 1027 = (6) 9565− 6103 =

(7) 12138− 7207 = (8) 8033− 6308 =

(9) 12359− 6346 = (10) 13373− 7898 =

� 13th-note �



� No.124-10-6 �

No.124-10-6 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 14165− 6013 = 8152 (2) 8631− 210 = 8421

(3) 15509− 9726 = 5783 (4) 9285− 4879 = 4406

(5) 3053− 1027 = 2026 (6) 9565− 6103 = 3462

(7) 12138− 7207 = 4931 (8) 8033− 6308 = 1725

(9) 12359− 6346 = 6013 (10) 13373− 7898 = 5475

� 13th-note �



� No.124-10-7 �

No.124-10-7 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 17274− 8276 = (2) 11041− 4416 =

(3) 11838− 4407 = (4) 9668− 9639 =

(5) 12065− 9301 = (6) 10785− 7761 =

(7) 4009− 7 = (8) 8848− 1034 =

(9) 8916− 5101 = (10) 5870− 5374 =

� 13th-note �



� No.124-10-7 �

No.124-10-7 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 17274− 8276 = 8998 (2) 11041− 4416 = 6625

(3) 11838− 4407 = 7431 (4) 9668− 9639 = 29

(5) 12065− 9301 = 2764 (6) 10785− 7761 = 3024

(7) 4009− 7 = 4002 (8) 8848− 1034 = 7814

(9) 8916− 5101 = 3815 (10) 5870− 5374 = 496

� 13th-note �



� No.124-10-8 �

No.124-10-8 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 14928− 7462 = (2) 8758− 8156 =

(3) 7336− 3852 = (4) 4612− 3332 =

(5) 8342− 5829 = (6) 13963− 9760 =

(7) 10077− 4684 = (8) 13148− 9102 =

(9) 5668− 780 = (10) 9585− 8895 =

� 13th-note �



� No.124-10-8 �

No.124-10-8 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 14928− 7462 = 7466 (2) 8758− 8156 = 602

(3) 7336− 3852 = 3484 (4) 4612− 3332 = 1280

(5) 8342− 5829 = 2513 (6) 13963− 9760 = 4203

(7) 10077− 4684 = 5393 (8) 13148− 9102 = 4046

(9) 5668− 780 = 4888 (10) 9585− 8895 = 690

� 13th-note �



� No.124-10-9 �

No.124-10-9 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 9139− 4471 = (2) 11349− 8332 =

(3) 8971− 3331 = (4) 5828− 2448 =

(5) 7081− 5723 = (6) 6193− 6074 =

(7) 9305− 8388 = (8) 16352− 7258 =

(9) 12577− 8115 = (10) 8343− 171 =

� 13th-note �



� No.124-10-9 �

No.124-10-9 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 9139− 4471 = 4668 (2) 11349− 8332 = 3017

(3) 8971− 3331 = 5640 (4) 5828− 2448 = 3380

(5) 7081− 5723 = 1358 (6) 6193− 6074 = 119

(7) 9305− 8388 = 917 (8) 16352− 7258 = 9094

(9) 12577− 8115 = 4462 (10) 8343− 171 = 8172

� 13th-note �



� No.124-10-10 �

No.124-10-10 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 18334− 8426 = (2) 8938− 6088 =

(3) 14353− 9686 = (4) 14057− 6759 =

(5) 8797− 774 = (6) 3838− 2668 =

(7) 10191− 5152 = (8) 3228− 1036 =

(9) 7598− 5720 = (10) 9207− 4120 =

� 13th-note �



� No.124-10-10 �

No.124-10-10 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 18334− 8426 = 9908 (2) 8938− 6088 = 2850

(3) 14353− 9686 = 4667 (4) 14057− 6759 = 7298

(5) 8797− 774 = 8023 (6) 3838− 2668 = 1170

(7) 10191− 5152 = 5039 (8) 3228− 1036 = 2192

(9) 7598− 5720 = 1878 (10) 9207− 4120 = 5087

� 13th-note �


